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The voltage V, in the frequency-domain circuit

shown in Fig, P7,70 isi_’rcm A0V (mms)!

(a) Find the average and reactive power deliv-
ered by the voltage source:

(b} Is the voltage source absorbing or delivering
average power?

(e} Is the voltage source absarbing or delivering
magnelizing vars?

(d} Find the average and reactive powers asso-
tiated with each impedance branch in the
cireuil.

(¢} Check the balance between delivered and
absorbed average power.

(f) Check the balance between delivered and
absorbed magnetizing vars,
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The voltage V, in the frequency-domain circuit
shown in Fig. P7.70 is 340 #0° V (rms).

(a) Find the average and reactive power deliv-
ered by the voltage source.

() Is the voltage source absorbing or delivering
avernpe power?

{e) Is the voltage source absorbing or delivering
magnetizing vars?

{d} Find the average and reactive powers nsso-

ciated with eaeh impedance branch in the
circuit, e
(e) Check the balance between delivered and J_ =

absorbed average power,

(f) Check the balance between delivered and
absorbed magnetizing vars,

Figure P70
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I'he voltage ¥, in the frequency-domain circuit i ey . ErE | . 4

shown in Fig. P7.70 is 340 A V (rms). I

{#) Find the average and reactive power deliv- o i N pe g TS 1'53 A
ered by the voltage source. W= ‘

(b} Isthe voltage source absorbing or delivering | 1 |
averags power?

\ . Figure P70
te) 1s the voltage source absorbing or delivering <

magnelizing vars?

() Find the average and reactive powers asso-
ciated with each impedance branch in the
circul,

(¢] Check the halance between delivered and e

=
absorbed average power, S
- X e --.-—L\

(£} Check the balance hetween delivered and L

absorbed magnetizing vars,




_ Consider the circuitshownin Figure P5.42. Find. !
the phasor current I. Find the power, reactive
power, and apparent power delivered by the |
source. Find the power factor and state whether
it is lapging or leading,
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